4 3 v 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS

3717  / C7X17 / —- / 27GA 1. 75" THICK MINOR RIB 1 OF 4 : : -

e L i, o SN 102 ThICK FLuSh REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION

3720 / C7X20 / 240U / 27GA 2’ THICK MINOR RIB 00 - | 1/30/14 - SH REVISED BRACKETS.

3722 / Coxee / - / 20GA 2’ THICK FLUSH 01 05/12/14 — SHEET #2 ADDED MATERIAL NOTES IMPACT WINDOW CROSS SECTION
3724  / C7X24 / 244U  / 24GA 2’ THICK MINOR RIB OPTIONAL GLAZING MAY BE STANDARD (DSB OR

BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
GLAZING SIZE (DLO) IS 22"x9—7/8”. SEE SECTION
~_ B—-B ON SHEET 2 FOR DETAILS.
(1) 20 GA. GALV. STEEL BACKER PLATE AT GLAZING MAY BE INSTALLED IN TOP SECTION (NOT 16 GA. DOUBLE END STILE

EACH INTERMEDIATE HINGE LOCATION.
BACKER PLATE ATTACHED WITH DOUBLE SIDED SHOWN) OR INTERMEDIATE SECTION  (SHOWN).

ACRYLIC ADHESIVE TO BACK OF DOOR. —— A
1
| ——3" 20 GAGE U—BARS. BARS ARRANGED
. B _ _ o N N AN T IN A 1-0-1-0 PATTERN OVER THE
o * 84 ; N AL HINGES ON EVERY SECTION AS SHOWN.
® - - foh e - by
LIC 7 Z 7 7 R — N view B
53 / c 7 / / / ——VIEW "C”
o= .
T3 (1) 4" T-STRUT PER SECTION. FOR
%m M | M M M [ —SECTIONS WHERE U—BARS ARE NOT
8§ | / USED, T—STRUT MAY BE MIDDLE OR
= ® (& TOP OF SECTION. FOR SECTIONS WITH
=5 U—-BARS, T—STRUT TO BE AT BOTTOM
= \ 1 OF SECTION AS SHOWN.
v N N N N v LOCK POSITION (BOTH SIDES).
U—BAR.
C\T—STRUT‘
— T A N_ (2) LHR TOP BRACKETS USED AS INNER
MAX. DOOR WIDTH = 18 -2" BOTTOM BRACKET.
#14x5/8” SHEET METAL SCREWS INSIDE ELEVATIONS
THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
» ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
DOOR HEIGHT ‘A’ |NUMBER OF #14x5/8" SHEET METAL SCREWS BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON
SECTIONS A ASCE7—10) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED
UP TO 8'-0" 4 BUILDING, 2) DOOR HAS 2’ OF WIDTH IN BUILDING’S END ZONE, 3)
8-3" THRU 10’-0" S c Q ANY ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH
10’=3” THRU 12'-0” 6 | — ANSI/DASMA 108. SITE—SPECIFIC CALCULATIONS BY A QUALIFIED
12'-3” THRU 14’-0" 7 \ DESIGN PROFESSIONAL MAY DIFFER.
14°-3" THRU 16°-0° 8 1/4"x3/4” SELF ULTIMATE WIND
16'-3" THRU 18'-0" 9 TAPPING SCREWS. SPEED (MPH> 155 165 170 180 2o
14 GA. END HINGES 14 GA. (MIN.) INTERMEDIATE HINGE EXPOSURE
B,C,D|B, C,D| B,C | B C
VIEW "B” VIEW _"C” CATEGORY B
Y ULLLETT]
o “T HAM”’ MEAN ROOF HEIGHT| 25’ 15 25’ 15 30"
Mot ......_/{7\ SNAP LATCH ENGAGES
S coo . \GENS 4, “ ONTO VERTICAL TRACK. END
S =" % ONE SAp LATCH ON ST MANUFACTURING PRODUCT CODE
St No 63286 % 2 SUDE BOLT Lock EACH SIDE OF DOOR. b
= - ENGAGES INTO
= * I END VERTICAL TRACK OUTSIDE DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. -
=70 jrs STILE. ONE LOCK ON HANDLE TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
2% STATE OF SWS EACH SIDE OF : LOCK BAR Unless Stated Otherwise | (D 585 Duke Boulevard WINDLOAD RATING
a’O k RO OUTSIDE END ENGAGES IN | TOLERANCES are [:In ay Moson, OH_45040 USA
NN ORIONESS DOOR. KEYED TRACK ON e sio-e |\ /G P3G T
,’6\& SR R\X \\\@ S HANDLE. STILE. EACH SIDE 0 = +.031 Bunldmg Products Company Fax No. 513-770-4853
s, }S:/ONAL?"‘ W OF DOOR. 688 = :882 DESCRIPTION:  1—-3/4”" INTELLICORE DOORS UP TO 18’2"W (SEE TABLE)
g INSIDE HANDLE 000 = +.
p— ook opton OUTSIDE KEYED LOCK WITH OUTSIDE_KEYED LOCK WITH 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: SNAP LATCH LOCK OBTION LOCK_BAR LOCKING. Degrees = £1/2  [CHECKED BY: SH DATE: 1/10/13 [SHEET 1 OF 4 |SIZE
SCOTT HAMILTON, P.E. - Unless Stated Otherwise
FLORIDA LICENSE No. 63286 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104826 — A/B VER: IBC

4 3 *~ > FLORIDA PRODUCT APPROVAL 16848




CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 / C7X17 7/ —-- / 27GA 1. 75" THICK MINOR RIB 2 OF 4 [Rev. NO.T ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
3718 / C7X18 / —-- / 27GA 1. 75" THICK FLUSH . - . . - -
3720 / C7X20 / 240U  / 27GA 2" THICK MINOR RIB o1 - - - - SEE REVISION HISTORY ON SHEET ONE.
3722 / COxe2 /7 -- / 20GA 2”7 THICK FLUSH
3724 / C7Xe4 / 244U / 24GA 2”7 THICK MINOR RIB
IMPACT—RESISTANT CONSTRUCTION: STANDARD ASSEMBLY CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE OPTIONAL DSB OR TEMPERED INSULATED GLAZING AVAILABLE.
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM
FRONT FRAME AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: MR10, 9030, THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OR INTERNATIONAL BUILDING
iﬁggBAPQPORBJVGéD?OST 7:AR90?E1>)1’ A?POP:’)IQS\’/E?)O?D%?) POLiS?QYSEI?INM:gCRg;gl:NgEP V(\/\I/"II::I-TSIII;)(,D\I)SFBC CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
2606 AND APPROVED C1 PLASTICS IN ACCORDANCE WITH FBC 2612. REGIONS (REF. CHAPTER 16 FBC/IBC).
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT. SECTION B—B (NON_lMPACT_RES|STANT GLAZING OPT'ON)
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)
INSULATED DOOR 1-3/4 OR 2"
SECTION THICKNESS / PANEL —= =
THICKNESS PAN HEAD
DECORATIVE FACADE #8—18 x 1 \ SCREW
TEK SCREW
(QUANTITY VARIES. -
SABIC SILGLAZE Ii SEE RETAINER
SCS2800 ADHESIVE DRAWING.)
I INSULATED GLASS
» CELLULAR PVC RETAINER.
GLAZING BITE 3/4 /SEE D/N 104834 FOR THICKNESS
GALLERY, 104881 FOR
#8-18 x 1/2” TEK SCREW COMMERCIAL
(QUANTITY VARIES DEPENDING T —
ON WINDOW SIZE.) 6063—T5 ALUMINUM IMPACT OUTSIDE — \
FRAME MITERED AND JOINED INSIDE
OPTIONAL GRILLE INSERT: AT CORNERS WITH DIE CAST FRAME
SEE D/N 104856. ZINC CORNER KEYS FRAME
(RESIDENTIAL WINDOWS ONLY)
1/4” THICK LEXAN MR10
POLYCARBONATE GLAZING
IMPACT—RESISTANT ASSEMBLY DETAILS STANDARD ASSEMBLY DETAILS
DRAWING 104826-A DRAWING 104826-B
““ulmu,,
\\‘ <1 HAMQ
\\ OO LALLM 7‘
S S CENSg! 4, %,
§ S No 63286 = ’E MANUFACTURING PRODUCT CODE
S * ) L * 3 C-DSIU-1D47/7/
= E - = DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F.
:'%-, :g_:._' TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
e O." STATE OF -'.Q, 3 Unless Stated Otherwise | il 585 Duke Boulevard WINDLOAD RATING
- M , OH 45040 USA
1’; 4\’- s OR \0 SN TOLERANCES are [:Iﬂ ay Tel. No. 513-770-4800 W 6 D P 3 6 "|_
t, S P " L \\\G} N 0 = +.031 Bunldmg Products Company Fax No. 513-770-4853
“u, ”/ONAL%‘ w 688 = :882 DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 182"W (SEE TABLE)
LITTTT 0000 = 001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2 [CHECKED BY: SH DATE: 1/10/13 [SHEET 2 OF 4 |SIZE
SCOTT HAMILTON, P.E. Unless Stated Otherwise
FLORIDA LICENSE No. 63286 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104826 — A/B VER: IBC

4

> FLORIDA PRODUCT APPROVAL 16848




4 3 v 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 / C7X17 / --  / 27GA 1.75" THICK MINOR RIB 3 OF 4 [Rev. noTzone | oate: T EcN No.[APPYD: DESCRIPTION
3718 / C7X18 / —-- / 27GA 1. 75" THICK FLUSH . . : . - .
3720 / C7X20 / 240U  / 27GA 2° THICK MINOR RIB o1 - - - - SEE REVISION HISTORY ON SHEET ONE.
3722 / COXee / -—- / 20GA 2" THICK FLUSH
3724 / C7Xe4 / 244U / 24GA 2" THICK MINOR RIB . "1_3/4” THICK MIN.
I e JAMB TO SUPPORTING STRUCTURE ATTACHMENT - 27, Gh, (016" MM DTEROR STEEL
] NO LOAD FROM DOOR) ] NOTES: POLYESTER PAINTED TOP COAT APPLIED
/ ) 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO = TO BOTH SIDES OF STEEL SKIN.
. THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
\ TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +324 LB & —-360 LB. PER LINEAR
FOOT OF JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A
FASTENER FLUSH MOUNTING SURFACE. 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8” SHEET METAL
/| LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
BRACKET WITH (2) 1/4"x1/2” BOLTS AND NUTS PER
BRACKET.
MAX. O.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, ) o »
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS F—4 o SECTIONS ARE 1-3/4” THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY ]_ VIEW "D EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 2" TALL TAPER STRUT. |- MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
° WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH 4—1/4" 0.062” MIN. GALV. STEEL |- TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT I 80 KSI MIN ' B RO PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. ’ ALONG THE WIDTH OF THE EXTERIOR PANELS.
// \ TONGUE AND GROOVE JOINTS.
N ” ”
132" |— VIEW "F
413 | » - 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
1-7/8"= 3 TALL 50 KSI U—BAR TO END STILES W/(4) #14x5/8” SHEET METAL AND
20 GA. GALV. STEEL. » » W
T (2) 1/4°x3/4” SELF TAPPING SCREWS. (SEE VIEW "B”)
\(1) 3" x 20GA. STEEL U—-BARS AT THE TOP OF
EVERY OTHER SECTION. ATTACHED WITH (2)
1/4"x3/4” SELF-TAPPING SCREWS PER HINGE
LOCATION. (SEE VIEW “E”)
ONE 4” T—STRUT PER SECTION. (SEE VIEW "D”)
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4”x3/4” SELF TAPPING SCREWS.
27 GA. (.016” MIN.) EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV., BAKED—ON
POLYESTER PAINTED TOP COAT APPLIED
TO BOTH SIDES OF STEEL SKIN.
12 GA. GALV. STEEL BOTTOM”BRACKET.
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
VAXIVON ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
ON—CENTER
& \u“uz"u % DISTANCE  |STEEL SECTION _A—A (SIDE VIEW)
R My »le, BETWEEN | |WASHERS
S OO...-C')"'&."-.. 'f’ BUILDING TYPE FASTENER TYPE FASTENERS*|REQUIRED?
§ D\ Sg 2 HOLLOW BLOCK WALL 1/4” x_1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 5" 1" 0.D.
K N GROUT FILLED BLOCK WALL [1/4” x 1—3/4" MIN, EMBED ULTRACON CONCRETE ANCHOR 8—1/2" 1" 0.D.
5* s No 83288 & _ = 2000 PSI MIN. CONCRETE _|1/4” x 17 MIN. EMBED ULTRACON CONCRETE ANCHOR 7-1/4"___[1” 0.D. MANUFAC TURING PRODUCT CODE
= e <™ 2 [2000 PSI MIN. CONCRETE _|1/4” x 1~ MIN. EMBED TAPCON CONCRETE ANCHOR 4-1/4 1" 0.D. C-DSIU-1D477/
= * - 2000 PSL MIN. CONCRETE | 3/8” x 1-3/4” MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 15-1/2"  [INCLUDED DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F.
=0°% s =S| [4000 PSI MIN. CONCRETE |3/8” x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24” INCLUDED | ~ TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
a%'. STATE OF Lf,u N WOOD FRAME (SYP 0.55 SG)[1/2” x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTO STRUCTURE 16-3/4" 1 8.8. Unless Stated Otherwise | (D 8585 Duke Boulevard WINDLOAD RATING
20 RS 14GA STEEL (0.060” MIN.) [1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 7" " 0.D. [:I Mason, OH 45040 USA
'a,"‘é\-f( OR \o?‘.- NG 12GA STEEL (0.105” MIN.) |1/4’—14 x 1° ITW BUILDEX TEKS SELF—DRILLING FASTENER 12-1/4” |1 OD. TOLERANCES ore == ﬂpay Tel. No. 913-770-4800 W 6 D P 3 6 T
“, &SE o 1/8” STEEL 1/4"=14 x 1" [TW BUILDEX TEKS SELF-DRILLING FASTENER 14-3/4" [1" OD. .0 = £.031 |Bulding Products Company  Fax No. 513-770-4853
":,,igN A\;‘“\\\‘ * FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 688 = :882 DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18°2"W (SEE TABLE)
T AT LEAST AS HIGH AS THE DOOR OPENING. 000 = +. ) ) )
DESIGN ENGINEER: CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = .001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
' MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2”, EXCLUDING STUCCO THICKNESS. Degrees = £1/2° |CHECKED BY: SH DATE: 1/10/13 |SHEET 3 OF 4 |SIZE
SCOTT HAMILTON, P.E. Unless Stated Otherwise
FLORIDA LICENSE No. 63286 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104826 — A/B VER: IBC

4 3 *~ > FLORIDA PRODUCT APPROVAL 16848




4

CLOPAY / IDEAL / HOLMES
3717 / C7X17 /  —--
3718 / C7X18 /  —--=
3720 / C7X20 / 240U
3722 / COXeg /7 --
3724 / C7Xe4 / 244U

NN NN N

2" TRACK CONFIGURATION

DOORS UP TO 800 LBS.

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW—THE— ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE
OPTIONS.

TRACK CONFIGURATION
ABOVE THE DOOR OPENING
DOES NOT AFFECT THE
WIND LOAD RATING.

27GA 1. 75" THICK MINOR RIB
27GA 1. 75" THICK FLUSH
27GA 27 THICK MINOR RIB
20GA 27 THICK FLUSH

24GA 2”7 THICK MINOR RIB

HORIZONTAL TRACK

SUPPORT BY DOOR

INSTALLER (TO suw)\{ DOOR
DOOR COUNTERBALANCE SYSTEM HEIGHT | "L”
e ; ; 6'—6"| 70"
13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7-0"] 76"
JAMB WITH (3) 5/16” X 1-5/8" LAG SCREWS 7_6"| 80"
AND TO TRACK WITH (2) 1/4” RIVETS. 8_0"| 88"
= 8—6"] 94~
© " 9°—0"[100”
m AS RQD: SPACING NTE 14" O.C. 9 —6"1106"
o 10'—0"1112”
§ 63" 2" GALV. STEEL TRACK, 1?’_8” 1;3”
| TRACK THICKNESS: 0.083". =67 [130"
- 12°—0"[136”
& o 12'—6"1142"
u VERTICAL TRACK TO BE BRACKET 13 -0 1148
MOUNT OR CONTINUOUS ANGLE 13°=6"1154"
g (1-3/4"x2=1/4"x12 GA MIN.) 14 —0"1160"
z MOUNT. ALL BRACKETS/TRACK 14 —6 1166
a CLIPS ARE 12 GA. GALV. STEEL. 15°-0"1172
< BRACKETS/CLIPS ARE ATTACHED 15—6"1178"
TO TRACK WITH EITHER TWO 1/4” 16'—0"[184”
RIVETS OR ONE 1/4” BOLT AND 16°—6"[190”
NUT. 17°-0"[196"
17°—6"1202”
18°—0"[208”

SHEET:

REVISIONS

4 OF 4 |Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION

01 - - - -

SEE REVISION HISTORY ON SHEET ONE.

JAMB CONFIGURATION
DOORS UP TO 800 LBS.

BRACKET MOUNT JAMB CONFIGURATION
1" DOOR OVERLAP (EACH SIDE)
2x6 SYP WOOD JAMB.

OPTIONAL STOP MOULDING
BY INSTALLER (TO SUIT).

ANGLE MOUNT JAMB CONFIGURATION

2x6 SYP JAMB (IF PRESENT;
SEE JAMB NOTES ON SHEET 3).

REQUIRED FOR BRACKET Sl | —16 GA GALV. STEEL DOUBLE-END-STILE ONE S/106° X 152/8 S =
MOUNT. s | FASTENED WITH (1) #8 X 1/2” WAFER SCREW. DISTANCES AS THE TRACK BOLTS

I | (LE. 3—1/2", 10", AND EVERY

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6” X
1-5/8" LAG SCREWS NOT TO
EXCEED 14" ON—CENTER.

2” GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS
WITH EITHER (2) 1/4” DIA. RIVETS OR
(1) 1/4” X 5/8” BOLT & NUT PER

TRACK BRACKET. SECTION C-=C

12"). ALSO TWO LAG SCREWS
LOCATED ABOVE VERTICAL —
HORIZONTAL TRACK JUNCTION.

7/16” 1.D. ROUND ‘
plist NUT 18 GA. GALV. STEEL CENTER HINGE

FASTENER.

FASTENED TO SECTION W/(4) EACH
#14x5/8” SHEET METAL SCREWS.

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8”
SHEET METAL SCREWS AND (2) 1/4” SELF TAPPING SCREWS PER END HINGE.

2” DIA. 7-1/2” LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

LHR BRACKET (2—1/2" x 5—3/4" x 12GA)

PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4” x 3/4” SELF TAPPING

SCREWS. NOTE THAT LHR BRACKETS ARE ALSO

3" TRACK CONFIGURATION

DOORS 800 LBS AND OVER.

NOTE DOUBLE TRACK
HEADROOM, HI-LIFT TRACK,
FOLLOW—-THE— ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE

OPTIONS.

TRACK CONFIGURATION
ABOVE THE DOOR OPENING
DOES NOT AFFECT THE
WIND LOAD RATING.

CENTER HANG REQUIRED FOR

/DOORS OVER 8’ HIGH.
T ‘ , - N

3” GALV. TAPERED STEEL TRACK AND ANGLE. TRACK
THICKNESS: 0.101”. ANGLE THICKNESS: 0.080”.
MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8".

VERTICAL/HORIZONTAL TRACK 14” MAXIMUM SPACING

JAMB CONFIGURATION
DOORS 800 LBS AND OVER.

HORIZONTAL TRACK
SUPPORT BY DOOR
INSTALLER (TO SUIT). =

1” DOOR OVERLAP (EACH SIDE)

2x6 SYP JAMB (IF PRESENT;

USED WITH "DOUBLE END STILE” AS SHOWN IN

ZONE B-2 SHEET 1.
DOUBLE TRACK
LOW _HEADROOM_OPTION
(AVAIL. FOR BOTH 2” AND 3" TRACK)
DOUBLE HORIZONTAL
TRACK.

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).

SEE JAMB NOTES ON SHEET 3). w77 SN 16 GA GALV. STEEL DOUBLE—END—STILE FASTENED
Z 5% WITH (1) #8 X 1/2” WAFER SCREW.

b

3—-1/4" x 2—7/8" MIN. x 0.080" TAPERED _/
ANGLE. SEE LAG BOLT MOUNTING AT TRACK ]

| 18 GA. GALV. STEEL CENTER HINGE

CONFIGURATION BELOW. 7/16” 1.D. ROUND FASTENED TO SECTION W/(4) EACH
PUSH NUT #14x5/8” SHEET METAL SCREWS.
FASTENER.

0.101” THICK 3” GALV. STEEL TRACK FASTENED
TO TAPERED ANGLE. TRACK ATTACHED TO
TAPERED ANGLE WITH ONE 1/4"x5/8” BOLT &
NUT AT EACH MOUNTING SLOT.

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
STILES W/(4) EACH #14x5/8” SHEET METAL SCREWS
AND (2) 1/4” SELF TAPPING SCREWS PER END HINGE.

3" DIA. 8—1/2" LONG STEM BALL BEARING STEEL ROLLER.

SECTION C—C MANUFACTURING PRODUCT CODE
PREPARATION OF JAMBS BY OTHERS. C-DSIu-1D477
DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F.
TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A

Unless Stated Otherwise

TOLERANCES are

0 = +.031
ONE 5/16” x 1—-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015
DISTANCES AS THE TRACK BOLTS (LE. 3—1/2”, 10", 22", 34", 000 = +.005
46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001
40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2°

VERTICAL/HORIZONTAL TRACK JUNCTION.

- JUNCTION. TWO 1/4” BOLTS FROM LAST MOUNTING
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION
£
x ADDITIONAL MOUNTING SLOTS
8 ™ SPACED AT 12” CENTERS.
a
‘\lllllll;,’
A\ L7 I | qon
\\‘\\O“T“\:ﬂﬁ{w,{ 73;,,, . 12” ON CENTER
o e, , ”
S e \QEN{;@'.'Q/&', o 46
: £ \, LA $ T
S, Nowesse v Z| o
= X ko 2 347 ONE. %” TRACK BOLT AND NUT AT EACH
= * R E MOUNTING SLOT LOCATION.
=~ . . = o
=3 X3 DOOR | VERTICAL
:%‘- STATE OF -'é,“:: oo HEIGHT [TRACK LENGTH
- % N ~ A"
e A A . e ~ 7-0"172
7 o) . ) — w
ENTTILER o e
, Sasan?® —_— , -
"':SION AL W 10" 0—07 108
11, w 27—07 132°
ipgpgant =0T 56"
DESIGN ENGINEER: 5-1/2 1607 180"
SCOTT HAMILTON, P.E. =0 228

FLORIDA LICENSE No. 63286

Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.

- ul h8/|585 Dghe@a)%evljlsrg WINDLOAD RATING
LiC ] Upay Tel. No. 513-770-4800 W 6 D l:) 3 6 "|'

Building Products Company Fax No. 513-770-4853

DESCRIPTION:  1=3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)

DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4 [SIZE
DWG. NO.: 104826 — A/B VER: IBC

*~ > FLORIDA PRODUCT APPROVAL 16848




